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The domain of the real valued function f(x)= P + ln;jgm{x':i =%} 18
§olt
a5 Sreg Hibabo f(X)=—— +1¢3.\g1,:,(:~:3 —X) @ %o
) 4% b
Options :
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A real valued function f: A — B defined by f(x) = i ~7x €A isabijection.

4+x°
If 4cA then AnB=
4 s
f(s)=~ Y VxeA mat00s08s £:A > B o s dires (habo b Bybr
1+X
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Options :
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S, =P +2 +...+n° ®6cm T,=1+2+....+1, wond, ©Hp&
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Question Number : 4 Question Id : 64041116804 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

1. % 3 |0 2 q
If A=| 2 4 7z | isa symmetric matrix and B=| p 0 —4] is a skew
y 5 -6 -3 1 s

symmetric matrix., then M + ‘B‘ — ‘AB‘ =

£ ¥ 3] 0 2 4
A= 2 4 z|afT5 Sr@8SBanB=| p 0 4ok S8 TS Sr(d
y 3 -6] 3 r 3
©ONE, |A‘-|—‘B|— AB‘:
Options :
XyZ + pqr
1. %
XYZ+q+T1
2. ¥
Xyz
Pq
3. %

XVZ + pq + 18
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w2 ) g dfsm [0 1 0| wond, |X+1 X+42 Xx43|=
L B 2 2 1 X+2 X+3 x+4

Options :
X

1.% O

-q
3.¢¥

4, %
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If the system of equations 2x+3y-3z=3, x+2y+0z=1. 2x-y+z=p has

uﬁ:

infinitely many solutions. then B
2x+3y-3z=3, x+2y+az=1, 2x-y+z=P SD¥8em B35 ©V0SHIN
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If a complex number z=x+1y represents a pomnt P on the Argand plane and

Arg'fz 3421) = i ;
Bl zrg=3 | 4 then the locus of P is a
Z=X+1y o3 a8 3 &gj Sogg 8ok w08 P o af Hothi Jrdiod HBcn
e (z 3+2i} m 5
Bl | 08) Doths
LT el P Ging) othsigo
Options:

circle with the line x+ v =12 as its diameter

X +y =12 B argore Ko el Hgo

circle with radius /1
.\/ﬁ segaeBore Ko a8 8o

circle with the line x —y =6 as its diameter

3 % X—¥= 6 631_,'6.: ol MUTTD He 2.8 -..3 j[.ﬁ'
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circle with radius 3
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Correct Marks : 1 Wrong Marks : 0

By taking ya+ib =x+iy, x > 0. if we get .‘1’1+17\/_1 —qa+ib. then E:
ic 8 o W57

||"1 Yl
vatib=x#i1y, x> Orreﬁ"’*:““ Pt %\[1—1* 1b ©9 0% ‘E‘,,. Vo)
21-12 21
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Two values of (-8 — S\Ei)l'”“ are
—8 — S\Ei}l'm' Ging) Both Densden

Options :

I3 <i—1—f3

1.¢

V"g+i.1+\/§i

2. %

—\E+i.\/§+i
3. %
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Question Number : 10 Question Id : 64041116810 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0
Let f(x)=x"+2bx +2¢* and g(x)=-x°—2cx +b*. X€R Ifband c are non-

C

zero real numbers such that min £(x) > max g(x). then |,

b lies 1 the mterval

f(x)=x%+2bx +2c? $B80 g(x)=-x*-2cx+b%, xeR @908 b, ce

C p
min f(x) > max g(x) edhgbenm &) raEs o Sopgpons, eipl b SO0
@o&80
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Correct Marks : 1 Wrong Marks : 0
If x> —4ax+5+a >0 forall xeR whenever a e (a.p). then 4p+o=

¥ 2 5
a€(0.p) womdpiier, o) XeRo®H x*-4ax+5+a>0 oowd, 4p+o=

Options :

Question Number : 12 Question Id : 64041116812 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
, ; 3 7 :
If o.p.y are the roots of the equation x” —12x” + kx—18=0 and one of them is
thrice the sum of the other two roots. then ¢+ +y% — =
3 2 Iy T\ Oy T
X" =12x" +kx-18 =0 3080 GIng) sroen g, B,y B TBER B8 HADS
S0 durere dnaed8 ur 06y ©wond, o + 53 i ‘Ifz k=

Options :
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Question Number : 13 Question Id : 64041116813 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The polynomuial equation of degree 5 whose roots are the roots of the equation
5 3 2 - :
x’ -3x" —x’ +11x* -12x +4 =0 each increased by 2. is
7 p _ ,
x> —-3x - %7 +11x% - 12x+4 =0 5D¥mo @ng) Srere o EEr08 2 ol
“Eﬂh Dended Sirerenme KOAS 55 SKKS okt Hingdno

Options :

2

x> —13x* +63x> -135x2 -108x =0

1. ®
x> —13x* +63x> +135x24+108x =0
2. ®
5 . 4 3 2 -
X" —13x" +63x —135x" +108x =0
3. ¢

x> —13x*—63x> —135x%2 -108=0
4. %

Question Number : 14 Question Id : 64041116814 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of positive integers less than 10000 which contain the digit 3 atleast
once 1s

©08 b & 0 e.8F0 EOA 1)) 10,000 Eo8 D iﬁa’.@nﬁ;’:@m@ 08y

Options:
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Question Number : 15 Question Id : 64041116815 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

5 men and 4 women are seated in a row. If the number of arragements in which
one particular man and one particular woman are together is '¢' and the number

of arrangements in which those two are not together 1s . then o :p =
5 1Hth Hhshen HBAD 4 K Rod &l SHIE ErbNBEpt. 306° ff.}éﬁofjé a8
Hdnth HBosw 2.8 B DERER &00 ©bBEe dogy ‘o' B & aﬁéfﬁ? DERED

Bow &0t wibEe Sogg P ©ONE, o p=

Options :

1 227
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If a team of 4 persons is to be selected out of 4 married couples to play mixed
doubles tennis game. then the number of ways of forming a team in which no
married couple appears. 18

Tenth Darard eobe Hob Senbd dhen Ko a8 atnid M sobe SR vbid
908 JoHEHohdR, darlrd 2ohdd) af &{m@ DEBIHEN Derer Dogy

Options :

12
1.¢

Question Number : 17 Question Id : 64041116817 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the binomial expansion of (p—q)M. if the sum of 7% term and 8™ term is zero.

Ptq_

then ——

; p+q
(P E¥) B3 DBed’, T8 o 8% dre Fndo D) eowd, =
Options :

14
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Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

. . . 1
The numerically greatest term in the expansion of (x+ 3}']13. when X :E and
L.
¥ ZE 15

g

] I‘ 13 &
X = F:E oondtd, (X+3y)" X8wd® F‘ioa}:ﬁééom H{j:% S80.
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(x-1)(x-2) e s R (-2)+A+B=
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Options :
32
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Question Number : 20 Question Id : 64041116820 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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T

Options :
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Question Number : 21 Question Id : 64041116821 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
f T 3.' - ~.
If tau| I+ a ‘: tan ‘ 1+D |. then tan(a + ) cot(a — ) =

y
tan 1

!

+d ' = tan’ |\ ] +B ‘ wond, @ tan(a +p)cot(a —p) =

£ | 8

Options :

sec” 2[?1+tau2 2B
1. %

cosec? 2P+ cot? 2B
2. ®

2(sec’2B + tan” 2B)
3.

3 2
4 n 4(sec” 2P+ tan” 2[3)

Question Number : 22 Question Id : 64041116822 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

IfA+B+C+D=2n.then smA +smB+sinC+sinD =
A+B+C+D=27 @wonad sinA+sinB+sinC+sinD =

Options :

A+B) . (A+C). (A+D)
511 5111 ‘

4s1n :
5 l
s LY

&



: B (A+C| [A+D
45111‘ ‘ ; cos ‘
4 ) L 4
45111| S— |sin; ‘5111‘ - |
3. o h 7 v
45i11‘ ;5111{ A4 i ‘sm‘r A:D ‘
4. % L8 A

Question Number : 23 Question Id : 64041116823 Question Type : MCQ Option Shuffling : Yes
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If 0<x<3 and 0<y<3. then the number of solutions (x. y) of the equation

f \'| 9

o i 11 2 :
‘ \/sm‘x—smx b 2% Y11
\

e , ol 1 - .
0<x <3 H58Bcm 0_}_% ©ONS, \jgu12};—5111){+— 2%€€ Y _1 ddbBbeeo CB)LET
2

resden (X.y) © Sogy

Options :

1. % 3

-2

2.9
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Correct Marks : 1 Wrong Marks : 0

i\;- +Tan™ 'Ir i ‘ +Tan™ ‘( i ‘
{21 ) /

k7 ol IS 3 s
If 6=Tan 1‘— ‘+Tan 1‘ Z |+ Tan™!
LY 3! / ltT ___-’ 1L ].3 2,-'I 1 LY 3‘].

,

then tan =
1) ES e g AT g 17 )
6=Tan 1| = ‘+Ta11 1| = ‘+Tan y ‘+Tan 1‘ — ‘+Tan 1‘ — ‘
\ 3 J \ J 1-\ 13 ) \ 21 / \ 3]. ]
ETIZ]JJ%: E‘Eﬁmaﬁgﬂ tan o =

Options:

en |

Question Number : 25 Question Id : 64041116825 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If Tanh'x = Coth™ ¥ = log\jg. then Tan™! (xy) =
Tanh 'x = Coth 'y = log+/5 ®owd, Tan(xy)=

Options :
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Question Number : 26 Question Id : 64041116826 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In triangle ABC.if C =120°, ¢=+/19 and b= 3, thena=
(@2hezo ABC 68 C =120°, ¢ =+/19 5805 b=3 wond, a=

Options :
1. % 4

Question Number : 27 Question Id : 64041116827 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ina AABC. 2A +C=300°. If the circumradius of the AABC is eight times its

: . -
mradius then 5111? =

—

2.8 |82heo ABC & 2A+C=300°. AABC Gng a’:Eaﬁée__ﬂ{ .;'f}T?go R ®osh é@e‘__’g

o8 8 Bey ©ons, 51'1172
Options :
1. %
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Question Number : 28 Question Id : 64041116828 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

31
In AABC.ifa=5,b=4 and cos (A—B) ~ 35 then ¢ =
1 31 .
AABC &° a=35,b=458c% cos (A—B) = ©ons, exipd c=
Options :
8
1. %

Question Number : 29 Question Id : 64041116829 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
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If the line joining the points i +2 j and j - 2k intersects the plane passing through
the points 21— j, 2j+3k and k—21 at T.then T.(1 + j +k) =
1+2] $80 -2k DothHeid 0% Bp, 21— j, 2] +3k HBot» k- 21 Dotbshe
ow Db Sy T e gobd, T.(i+j+k)=

Options :

15
1.+

Question Number : 30 Question Id : 64041116830 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Let i-2j+k, i+j-2k.2i-j-k and i+ j+k be the position vectors of
four points A, B, C and D respectively. If a point P divides AB m the ratio 2 ; 1
mnternally and a pomnt Q divides CD m the ratio 1 ; 2 externally, then the ratio in

which the point with position vector 51 — ¢ j - 5k divides PQ is
i-2j+k.i+j-2k,2i-j-k 60 i+ j+k e $%5m A, B, C £6ain D
ZothdHe a;i‘é HBdodbomro. Ped a8 Dok ABD 2: 1 S:@géﬁ @oSSoredr
$Bair Qed &8 o) CD A 1: 2 0588 ersoreid O, PQ ® 5i-6j-5k
R S08m fo othid Defod DY

Options :

| % e 3l |
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Question Number : 31 Question Id : 64041116831 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The vector equation of a plane passing through the line of mtersection of the
planes T.(i-2k)=3. T.(2j +k) =5 and the point i +2j+3k is
T.(1-2k)=3. T.(2] +k) = 5 &3 Sere pos B thomdbdr, 580w 1+2]+3k
Doth o D8 af Ho0 @ 8) JHT 5&h88es0

Options:

T.(i+4j)=13

T(i+6j+k)=18

2.

- r(1+2)-k)=8
T.(1+8j+2k)=23

4. &

Question Number : 32 Question Id : 64041116832 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If a=1+]. b=2]-k are two vectors such that Txa=bxa, Txp=axb-

=

¢

then the unit vector in the direction of T 15

axb ©ah sereare &) Dot $6%88

~=I
A
. |
c‘l
LA—
=
I
|
S
=51
|
o4
"
[
f=]



—(i-3j+k
= 1+K)
2. %
i(?+"+E}
R A
3. %

ax B

Question Number : 33 Question Id : 64041116833 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If 3. b. ¢ are three unit vectors such that 3 x(bxT)=—Db+— and o.p are the

r~...1|‘)m

b2 |

angles between a.C and a,b respectively, then o+ p=

I = C - _ fes
a,b,C en ax(bxc)=—b+; E:éa;mmgﬁn &) et bl H6¥en b

Options:
T
1. % 2
T
2. % g
T
3. % 6
5w



Question Number : 34 Question Id : 64041116834 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

Variance of the following continuous frequency distribution 1s

T LRV . Y - ¥ oyt
Igﬁﬁj "‘-"'u:uﬁ“n_a_ o HJEDQ)EE SlerezimilE \::-JRLE“-@-

ClassInterval |0—4 [4—-8|8—12 |12-16
SBKE =odto

]
-3
—

Fl‘equency 1
T g co) o0 e

Options :
16

1. %

2. ¢

3. %

Question Number : 35 Question Id : 64041116835 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
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All possible words (with or without meaning) are formed by taking atleast
2 letters (all different) from the letters of the word 'CURVE'. If a word 1s chosen
at random from all the words thus formed, then the probability of getting a 3
letter word 1s

'CURVE ' &3 58065 efoee Dos ¢8%0 Both oFTrot) {f:?l: ARV &5
igé&é’u PO {méﬁhu_ , 828) BB, s JOES Streo H108 a8 Soef)

&mﬁ;&;éam oJOTDE E‘j\w, %, &8 3-uiTe L-."JUE"& EroteeRd Ko Hogriid

Options:
1. %
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g
2. %
1
3. % 4
3
16
4.9

Question Number : 36 Question Id : 64041116836 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Three numbers are chosen from 1 fo 30. The probability that they are not three
consecutive numbers 1s
1 06 30 H8H Ko Sogge Hob Srth Hoggen dons ﬁc‘ézs&m;mz. ®©f) et Nl

rogren R0 4odmlE Ho Hograes

Options :
1
145
1. %
142
> = 145
143
145
3. %
144
145

4.+



Question Number : 37 Question Id : 64041116837 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If two events A and B are such that P(A)=0.3. P(B)=0.4 and P(AnB)=0.5.
then P(B/(AUB))=

P(A)=0.3. P(B)=0.4 56t P(A nB)=0.5 edtoture Abotn Book fpéxden
wond, ©:3p% P(B/(AUB))=

Options :

Question Number : 38 Question Id : 64041116838 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Two candidates A and B have attended an mterview conducted by a recruitment
board for two jobs. If the probability that canditate A will get the job 1s 0.8 and
the probability that candidate B will get the job is 0.7, then the probability that
atleast one of them will get the job 1s

Dot &85 B8 8 Aahieg eaﬁra, A0S 2.8 Mot 58 =fth egthen 4
bain B SFasbdirg. @656 Ao 68 e groerl8 «Joeg’cuaeé 0.8 $oBaim &,aiﬁé B
& ﬁﬁ'ﬁgm ) EPotER8 & ogregs 0.7 wows, 7087 €8%0 b @ ﬁ&f S} SroXoE

LY C'Et."l_"o‘/] &
Options:
0.96

1. %

0.94
2. ¥



Question Number : 39 Question Id : 64041116839 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

X denotes the number of times heads that occur in n tosses of a fair coin. If
P(X=4).P(X=35) and P(X=06) are in arithmetic progression, the largest value of
n1s
'nu‘Gu E& ‘E'_'c\:' r‘l:c':j G,f(ﬂﬂjo {‘J |O\Jm\:‘_“ﬁ[ ]FQ.F {‘JDC.}.-CIJO ?E] D-.J.' _,- rJOSJ l:ﬁ 't.\., _HUF'%'
X 5rdd06. P(X=4), P(X =5) &6amn P(X=6) en wo¥E386° 08, n Gng) r’af}%‘;‘
Dend
Options :

7

1. %

14

Question Number : 40 Question Id : 64041116840 Question Type : MCQ Option Shuffling : Yes
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The probability distribution of a random variable X is as follows. Then the mean
of X1s
2.8 Cﬁ?ﬁi‘ﬁ;é Soord X @n¥) Sogrisee dgresism (§ob dorr sod. @ipth X dng)

wo¥hikio

X=x. | 2 4| @ |1 |2
P(X=x,)| k*/3 | k* |2k*/3 [k/2 |Kk/2
Options :
1
3
1.+
1
5 % 5
11
2
3. %
13
2
4, %

Question Number : 41 Question Id : 64041116841 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A(4, 3), B(2, 5) are two points. IfP 1s a variable point on the same side as that of
the origin with respect to the line AB and s at most at a distance of 5 units from
the midpoint of AB, then the locus of P is

A(4,3), B(2, 5) 2 80% Hothiden. P o 0.8 S8docxs), dp AB fﬁﬁg@ Sarerdlos
ﬁ@éﬁ_{gﬁ sotur bcky AB g duig Dok Hod r‘ﬁﬁsgorﬁu 5 ohofitn 8ot
&083, earpth P cdng) Bocianigicdn

Options :

X2+}f2—6x—8y:0



x2+y2—6x—8}f =0x+y-T7<0
2.9

X4y +6X+8y—25=0,x+y—T7<0

x2+y2—6x+8}f20,x+y—?c::0

Question Number : 42 Question Id : 64041116842 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
By shifting the origin to the point (2. 3) through translation of axes, if the equation
of the curve x” +3xy - 2y* +4x —y-20=0 is transformed to the form
Ax? +Bxy+Cy*+Dx+Ey+F=0.then D+E+F=

wsre) Dirosdorr HBHG0 3ahio e dre Dot (2, 3) dothid éﬁéé Srtio

.

PR Ho 3;2 +3xy- 2}*2 +4x-y-20=0 ﬁ'ﬂé@ HanESesdm
,2 - 2 "'_51 NomE o e y )
AX” +Bxy+Cy +Dx+Ey+F=0 o3 8rard8 5658588 Jobs, D+E+F=

Options:

1.«/_1

Question Number : 43 Question Id : 64041116843 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The points (2. 3) and [—47;; lie on the opposite sides of the line
\ 2y

L=5x-6y+k=0 and k 1s an integer. If the points (1. 2) and (4, 5) lic on the
same side of the line L = 0. then the perpendicular distance from origin to the line
L=01s

( 4)

(2,3) bdio ll =4 Dothen L =5x -6y +k =0 $6¢8ps athzHe B0

_EJ
30000 ka8 a’rgéoajé. (1,2) 086 (4, 5) Hoshen L= 03584085 EJE.?_JE’JJE{) &0,
soee 2othyy ol L=05% te eoatirdo

Options :
| % AJ61
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2. %

10

3. %

11
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If the incentre of the triangle formed by the lines y—2=0. x+y-1=0,
Xx-y+3=01is (a.p). then f=

x-2=0.X+yY-1=0, Xx—y+3=0 Bpod 25 Bthezo ) @08 oo (L, p)
©ONa, p=

Options :

2
1.4 =



\}E+1

242 -1
- 244

Question Number : 45 Question Id : 64041116845 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0
If the equation of the pair of straight lines intersecting at (a. b) and perpendicular
to the pair of lines 3x* —4xy +5y* =0 is /x? + 2hxy + my* —32x - 26y +c =0.

a+tb+c g

then=——=
[+h+m

3% 4xy + 5}"2 =0 'rﬁsgﬂciﬁjméﬁlé ©oR0rP S0t £:005 (2, b) Dothd) 55 D0B0HES
Jég—ﬂ s oS »ié‘a,,.ef/ , 2 Yhy 2D " q Y on 3 %ot
WO J_J@’O @) Jo08Bes0 X+ 2hxy + my” —32x - 26y + ¢ =0 008, @D
a+b+c
[+h+m
Options:
38

LA
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PQR 1s a right angled 1sosceles triangle with right angle at P(2. 1). If the equation
of the line QR 1s 2x + y=3. then the equation representing the pair of lines PQ
and PR 1s

f £ - ' ] 2 2 £,
P(2,1) &% voab’mos’ PQR &8 eoab’n Siblkeriro (B8hessin. Op QR ding) Sahsbeso

2% +y=3 ®ond, PQ £83m PR & &r0d %ﬁwcﬁ}aﬁé{} % 8Esea0

Options :
i 3x* —3y* —8xy—10x—15y—-20=0
1.
- 3x* —3y” +8xy +20x +10y +25=0
3x% —3y? +8xy—20x —10y+25=0
3. ¢
3x° —3y° +8xy+10x +15y+20=0
4, ®
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The circles x> +y* —2x—4y—4=0 and X*+y +2x+4y-11=0
x> +y’ —2X—4y-4=0 $8c%m X +y +2x+4y-11=0 Hewen
Options :
Cut each other orthogonally

2. 8PS 88 eoaorr gofiohiotron
1. %



do not meet

250 EE =5y

2. %
mtersect at the points lying on the line 4x+8y—-7=0
3 ¢ 4x+8y—-7=0 Eﬁfa}@ &0t SoHdHe é%ﬁ gobohiotron
touch each other at the point lying on the line 4x +8y—-7=0
4X+8y—7=0 Bed 608 Do 58 aEITESR ) JBodhoéron
4.% ; ’
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If the line 4x -3y +7=0 touches the circle

x’+y —6x+4y—12=0 at (a.p). then o +2p =

4x-3y+7=0 Bp x’+y’ -6x +4y-12=0 Gz (0.B)5 ) 89, a+2p=
Options:

3

1. %
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The slope of the common tangent drawn to the circles

X +y° —4x+12y-216=0 and x> +y* +6x-12y+36=0 is

X +y —4x+12y-216=0 %000 x*+y +6x-12y+36=0 o3 Heob
Aabals syl Yoy ang) e

Options :

2. %

3.v¥
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If r, and r, are radii of two circles touching all the four circles

I +1
(x+1)* +(y+1)’ =1, then 12 =
"
5
(X1} +(}'i1)2 =1" e :ﬁ%)m@*“ 2 J8od } Both NEo _"Br'_JUUDG_M I, I, @
I +1
wowd, 1 2=
"
Options :
V2 +1
2
1. %
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If the equation of the circle having the common chord to the circles
X“+y +x-3y-10=0 and x* +y* +2x - y—20=0 as its diameter is

& +}’2 +0x+Py+y=0.then a+2B+y=
x? -|-}T-“' +Xx-3y-10=0 %H06dn x2 4 },3 +2x-y-20=0 ﬁa‘:@jﬁ: t—*ﬁcﬁ wwﬁ
TSiSore SDAS $)&in SEdmn X +y +0x+Py+y=0 wond, a+2p+y=
Options :

0
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If x — y-3=0 1s anormal drawn through the point (5, 2) to the parabola yz =4x.
then the slope of the other normal that can be drawn through the same point to
the parabola y* = 4x is
X-y-3=0 o3& yz —4x Soodedied (5, 2) Hothd o ADY wdeozdy
©ond, 87 Hoths) How y2 = 4x Sordedierd8 ACHKDAY ¢ edeonly e
Options :

1. % 0

2. % =1

[

3. %

4.4 —2
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"\

{ T .
— ' on the ellipse x* +4y* —4=0 meets the

If the normal drawn at the point P
\ 1 /

ellipse again at Q(a.p). then g =

DothH 5 AD% @deocads, 6 Hyeef) 86A
) S Ty -

9 9 5 _ ".IT[\'
X +4y°-4=0 bi0p P| 7

Q(a,p) 8 0BT, a =

Options :
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If g 1s the angle subtended by a latus rectum at the centre of the hyperbola having

"

eccentricity =7 . then sinf =
Y

.
i
_— 1 4 128 -4 L
o \/: ﬁ%é[]@ﬁf‘ﬁﬁ" év%’.}?’i @8 dordodho @ng) &8 o8 woao, o) oo r}ig 55
P :) i J

B0 § wowa, sinb=

Options:

1.8
—lan—
5 2

"

Sl — + COS—
9 2)

i

l—r:mag
2
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The tangent drawn at an extremity (in the first quadrant) of latus rectum of the

72
hyperbola T =1 meets the x-axis and y-axis at A and B respectively.

If O is the origin, then (OA)? - (OB)? =

Z 4

X
@8 o cho ?—%21 cf_’mé(} Femonsy a8 8% (Gntd aresosstam) Eﬁtﬁm A

éﬂjt@ém X-o%0 dbcin ¥-eeroi S8 A b Be Eﬁtﬁm Seosnof. O sredoind
wond, @5ph (0A) - (OB) =

Options :
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1.+
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2. %
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9
3. %
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The points A(—1. 2, 3). B(2.-3. 1), C(3. 1,-2)
A(-1, 2, 3),B(2,-3,1), C(3, 1, -2) Dotospen
Options :
are collinear

e Y
SoacsTRen



form an 1sosceles triangle

a8 Beobgariin (Bgher)) B aron.

form a right angled triangle

o - =,
.8 w0l [B4heri)) QB haron

form a scalene triangle

a8 D¥dardo (B85l B Saron.
4. o ol =
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The direction cosines of the line making angles and 6 1D

h_:|.._|

L
4" 3
respectively with X, Y and Z axes are

x&mm&zﬁm@mmm4 ammduoex—gﬁméiﬁgﬂﬁ

85 & dhen
Options :

1 1.1
J2°272

1.¢

1 143
Jd2'2 0

2. %
1l
V27272

3. %

4. %
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If the equation of the plane passing through the pomt (3. 2. 5) and perpendicular

to the planes 2x-3y+5z=7 and 5x+2y-3z=111s x+by+cz+d=0, then

2b+3c+d=

(3, 2, 5) othsh Kowefdr, 2x-3y+52=7 Hbcn Ix+2y-3z=11 deroth

©080r® 406 00 Gng), $08smo X+by+cz+d=0 wows, 2b+3c+d=
Options :

1. 0

(L
rn

20

Question Number : 59 Question Id : 64041116859 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

lim[x—log(cosh x)] =

X—IC
Options :

> i
1.% <
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lim l{/f +4x2 —yx% —3x ] _

= — O
Options:
17
6

-2
LA

| =

57
6
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: 64041116860 Question Type : MCQ Option Shuffling : Yes
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sina(x—-{x])
e *x  if x<1
If a real valued function f(x) =+ b+1, i ==]
2 _9
=TT g i
3

LY

1s continuous at x = 1. thenbsmma =
([x] denotes the greatest integer function)

sma(x—{x])
| e *1xl ., X<1 eons
f(X)zJ b+1 , X=1 eoons
|| ; S R | 1
'l . > X210 wond

on af P Hreg [HEhabho x =1 DG DY &, bsina=
([x] @38 1583 Frorol Hhosrd Srdkod)
o fa= - [= 8 —

Options :
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dy
If i N tl D
5111‘5. CDS}f CD’S} "3].[1‘{ (). then A
dy

SINX4/COS Y —COS Y/sinX =0 ©ond, d;; i
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ran x
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2. %
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If f(x)=2+ ‘Sill_l X|and A={xeR/ f1(x) exists}. then A =

—{xeR/fl(x) SgEREo ; @peh A=

[+ L i

f(x)=2+ ‘sm‘l X

Options :

1. % 0

[-1.1]

(—0.—1) U (L)
3. %

v (—1,0)w(0.1)

Question Number : 64 Question Id : 64041116864 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



- dy
If y = (log, sinx)” then =

dx
, dy
y=(log, sinx)* wond —=
dx
Options :
Xsinx :
y| ——— + log(logsinx) + —log(logx)
logcosx logx
1. %
XCOSX :
y| ————— —log(logsinx) + + log(logx)
logsinx logx
2. %
Xcotx . 1 i
yv| ———+log(logsinx) — —log(logx)
logsinx logx ]
3.v
Xcotx : 1
y| ——— —log(logsinx) + —logx
logsinx logx
4, #
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If the area of a square 15 575 square units. then the approximate value of its side
i

2.8 o A’ Faregsin 575 St cfo:t-&@?ﬂ. Q) ghesiin Gng) Geponos) Dend

Options:
23.9792

1.4

23.7992

« 23.8687



23.7868
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If the tangent of the curve 4y =3ax®+x’ drawn at the point (a, a) forms a

25
triangle of area Y sq.units with the coordinate axes then a =
e
4y =3ax” + x° S(208 (a.2) Dorhs) 5 ADS Q)P srdegines’ D85S Beve:
25 ;
S0 zfé.cﬁﬁﬁjéjr; ©Oo0s, =
Options :
_|_
1.% -
2 s
2. ¥
3 % L6
4 % £3
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- . . . b . : . .
If the function f(x)=sinx -cos”x is defined on the mterval [~m. n]. then £ is
strictly increasing in the interval
L .. e i 2 5 - " s : £
ababo £(x)=sinx —cos™X @3 [-n, 1] wosbos® MkDosnba, f i eb’rumorr
400 ®osto
Options :

=

;F St —

-
6‘

=
o
(=

L



(—n —m)
L2 " 5 ]
2. % :
[—5nt =
L 6 ‘2‘
3. %
(—5m —rt"‘ —T 11:|
L6 Z. L & 2
4.
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If the Lagrange's mean value theorem 1s applied to the function f(x)=¢" defined

on the mterval [1, 2] and the value of ¢ £(1.2) 1s k. then ekl =

[1, 2] woston ADoHadd Haabo f(x)=e” & Birof brrosed) ©ihHBoHTFE
’ ; k-1
060 ce(1.2) Bn¥) el k wowd, & =

Options :

1.8 2
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IfJ. 1(IX:AJ(3+BKZ+C'x+DTa11_lx+E,theu A+B+C+D=
%ty

+1
JX ldx A +Bx?>+Cx+DTan 'x+E wopa, A+B+C+D=
X +

Options:

1o | 2

|
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2 _% 1 2 =
Ifj = dx =x —log (f(x)) +——=Tan (g(x)) +c-

X +X+2 ) J7
then f(- +\/—E( )=

dx =x—log (f(x))+ —Tan_l(g(x]] +c

SODE, f(—l]-l-\E g(=1)=
Options:
1

J‘};z—};+2 ; 2

1.¢
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T Y f B )
I 5ec| - |5e-:| X+— ‘d};:
LY 3 \ 6
Options :
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S5€C

—|+¢

o3 |w| A

Sec;l:{+' ‘

, ‘m
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log - +¢
{ T |
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k .
- — dx =—x——Ilog|5cosx +2sinx|+c. then
5cosx+2sinx 29 2

aCOSX +3sinx 26
If [ = a+k|=

ACOSX +3sInX 26 k .

j : (lx——x——loﬁ|‘?max+25111x|+c ©ona, |a+};|:
Scosx+ 2smx 29 29

Options :

3

1. %

5 ¢ 11

-2
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If j : —AtanXx + BTan_l(\Etan x)+C. then AZ_B?-=
—sin?x

dx 3 i .
I —4=A tanx + BTan l(ﬁtanxyrf.@:oné A Bh=
l—sin” x

Options :

b | -

| w2
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;=g
XS " xdx=

© ey

Options :

T

8

1.+
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<k

L.ulﬂ
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sin(x —[x])dx =

—yt2 | A

2| =

(Here [x] 1s the greatest integer function)

(=88 [x] 1563 ropod H53Ha%o)

Options :

1. % 0

3(1—cosl)+sin2—smnl
3(1—cosl)+cos2—sinl

4 % COs2-—sin2
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~

‘[xz(j —x)’ dx =

0
Options:
128
21
1. %
64
2%
32
21
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If f(x)=Max{x’ — 4. x" —4}. and g(x) =Min{x*, x°}. then
1

[ 0 —g()ax=

-1

f(x)=Max{x® —4, x* -4} H6c» g(x)=Min{x?, x*} ®ond,

e

1
I(f(X)—g(x)) i
-1

Options :
_151
§
1.¢ 28
9
20
2. %
3
2
3. %
ST
4.% 9
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B
fy=At*+ T (A, B are parameters) is general solution of the differential equation
f{t) y" () + g(t)y' () + hit) y = 0 then 2f(t) + t* h(t) =
fOy" )+ gty 1)+ h(t) y = 0 0808 $dus8mo G Jnedm s
2, B 2
y=At"+ B (A, B e doedueben) wond, 26(t) +t°h(t) =

Options:

g® —h(®)
g(t) + 1(t)

g®) f(H)

(f(t))e®

Question Number : 79 Question Id : 64041116879 Question Type : MCQ Option Shuffling : Yes
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The general solution of the differential equation
(2x-y)*dy-2(2x-y)*dx -2dx =0 is

{2}{—‘-.- d‘l. = {j‘ﬁ } (IX—FJ(I\ 0 @H8oN Haslno w«.\Jth ¥ E""fﬁﬂl:a :1535"4

Options :
log(2x—y)=2x+c¢
1. % -
2x-y)Y +4y=c
2. %

3. ¥



(2x — }-‘)3 +6xX=c

Question Number : 80 Question Id : 64041116880 Question Type : MCQ Option Shuffling : Yes
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The general solution of the differential equation xlogx dy =(xlogx —-y)dx 1s
xlogx dy = (xlogx - y)dx o3 egei $¥dmo Gng) Frde FHE

Options :

(x—v)logx+x=c

1. %
X
X—y= +C
5 % logx
X
V—X= +C
logx
3. %
(y—x)logx+x=c
4. &
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Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Maximum Instruction Time : 0
Sub-Section Number : 1

Sub-Section Id : 640411349
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The number of significant figures in 0.03240 is
0.03240 &8 eS8 Sogge Hosy

Options :

1. % 3
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A ball projected vertically upwards with a velocity 'v' passes through a point P 1n
its upward journey in a time of 'x' seconds. From there, the time in which the ball

again passes through the same point P 1s
V' 308" DEdendr 28 D3%aBS o 208 oo t—“:ﬂiéﬁ 6% Haresod® P o Hothidid

X' 2850 sood® rdKh. @B Kok © 208 He o8 Dobd P mened Hiy

00
Options :
v
2g
1. %
2V
Tt
g



T
2g
3. %
|rf1'|' \"
5(F, ]
e )
4. &
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Three vectors each of magnitude 3./] § units are acting at a point. If the angle

i
between any two vectors 1 7’ then the magnitude of the resultant vector of the

three vectors 1s

B850 341.5 Bdreran H08remo Ko S SHEen o8 Hothd e:iﬁtj D0
W o = o

o) Doth H6%e DI &m0 —eond, 8 Himh 564 508 564 H0ErHo

Options:

90+/3 units (FEreseen)
O units (F&mczeen)
J6 units (F&meseen)

3units ([SHmegeen)
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A vector perpendicular to the vector (41—3]) is
(41—3]) %655 oonorr Hoi HH%
Options :

41+ 3]

4.+
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: ‘ 5 B s o
If the breaking strength of a rope 1s 7 times the weight of a person. then the

-

maximum acceleration with which the person can safely climb up the rope 1s
(g - accelereation due to gravity)

4
2.8 @, ab .:.“’Jg cmféﬁ — HoH oo $BoSHORY, & = Sibchost w cU

ra

8gsorr 28 a,éé“’n nc;j &) ﬁEJ" ete 5850
(Q ﬁ)ﬁjé&\ to\é D]

Options :

g
x 2

g

o |G

3.v¥
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A Dblock of mass 2 kg is placed on a rough horizontal surface. If a horizontal
force of 20 N acting on the block produces an acceleration of 7 m 7 in it, then
the coefficient of kinetic friction between the block and the suface is
(Aceleration due to gravity = 10 m s7%)

2.8 88 iirodt 1% deop 2kg (1o fe a8 fieh) tsoTabid. By 50D Sy
8 882 Jirost awo 20N e &P k@i $wo 7 m s womd Cﬁ)@é), eferd)8
ol K88 ndes Mo

(rotes #ieso = 10m s~

Options:
1 . ® 0.2

2 ¢ 0.3
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If a position dependent force {\3}{3 ~2x+7)N acting on a body of mass 2 kg

displaces 1t from x =0 m to x = 5 m. then the work done by the force is
2 kg (8808 Ko a8 55 Dt 7 0P SEFG @00 {'3}{3 —3h—7)N HBm, ©

$55% x=0m Hod x=5 mH PiFodo 308098, & weo B

Options :
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Two smooth inclined planes A and B each of height 20 m have angles of inclination
30° and 60° respectively. If t, and t, are respectively the times taken by two
blocks to reach the bottom of the planes A and B from the top. thent, —t, =
(Acceleration due to gravity = 10 m s

w858 20 m o) Ko AHBan B i Both s Sord aren dere aren Blesee
St 30° spakm 60°. Both Hayen Abain B dere 2ibod (Bobs SR leNaty 5L
seeren SBre t, Hbakn t,, ©ond L=§~

(o SBmo =10 ms™)
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The moment of inertia of a solid cylinder of mass 2.5 kg and radius 10 cm about
its axis 1s
2.5 kg (5doed dhBatn 10 cm ae méo Ko a8 i Grdo @ng) et (griibo o

s;ﬁgp Séore

Options :
0.0725 kg m’

1. %

12500 kg m’
2. ®

0.0125 kg m?
3.¢

00 kg m?

IxJ
h
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A body of mass 2 kg is moving towards north with a velocity of 20 m s™ and
another body of mass 3 kg is moving towards east with a velocity of 10 m s7.
The magnitude of the velocity of the centre of mass of the system of the two
bodies 15

2 kg (55078 o w8 S 4886¢ 3% 20 m s Frios® batn 3 ke BHgoed Ko
Sk ErtinbE Z% 10m s S08° &tk 0. © Jotd H:hw JE5Y (Bgo-8

ol 3o ) HOFFHO

Options :

~ =
1% 20m s



—1
5 o 10ms

15m s

2\/5 ms!
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If the function sinet (tis time in second) represents a periodic motion, then the
period of the motion 1s

T ) # # s L N v 5 4 =
Hdabo sin‘et (t-seo 2Eothe®) wlb od8d domrd) JrdR, 6 Jodo dng)

82388 500

Options :
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On a smooth inclined plane, a block of mass M 1s fixed to two rigid supports
using two springs. as shown m the figure. If each spring has spring constant k.
then the period of oscillation of the block 15

(Neglect the masses of the springs)

H608° drad Difore a8 B pen Soop M (Bio8 Ko a8 B3y ot Wohe
- L= N
TRo° BOD tﬁe}d wproro) HRoSalin. a8 |E3°:~,oﬁ o?ajééii’c;oﬁ ?@moéo k o8, ®
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(ohe st ddbodhin)
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The acceleration due to gravity at a height of [\E —I)R from the surface of the

earth 1s
(Acceleration due to gravity on the surface of the earth = 10 m s~ and R is radius

of the earth)
o 86800 08 (V2-1|R 08 85 ooy St
(4 62988007 Hthe &Bmim 10m s $bdn R eihie 4 3_7055‘0&30}

Options :
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Ifthe given graph shows the load (W) attached to and the elongation (A/) produced
in a wire of length one meter and area of cross-section 1 mm?’, then the Young's
modulus of the material of the wire s

B (ree 2l Mt grid $oBots 1 mm? é)cﬁegﬂJ:S FE050 M 2.8 B4 ADOBDBS
o (W) &bt &% Ivicte (AD % 5mDo, o & Singely ahofi thefo

W(N)
A
1117 SROURREN——
| ¢
L | ' i
0 A
0 A
- > Al(mm)
1 2 3 4 3
Options :
20 x 101" N m™
1. =
2% 10N m™
2. ¥
10 < 10" N m™
3. %
4 x 101" N m™
4, ®
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A wire of length 20 cm 1s placed horizontally on the surface of water and 1s
gently pulled up with a force of 1.456x10™ N to keep the wire in equilibrium.
The surface tension of water 1s

20 cm §RED Ko o &Kk, D8 6208003 S8e: Hrosdore 6o, B5s 3’3{33@“5@?}@”

- i | £ =, B
60508 1.456x10™ N a008° dgre 28 e, oond I Sesis

Options :
1 % 0.00364 Nm™!

0.0364 N m™!
2.9

0.00464 N m!

0.0864 N m!
4. %
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If some heat 1s given to a metal of mass 100 g. its temperature rises by 20 °C. If
the same heat 1s given to 20 g of water. the change m its temperature (in °C) 15
(The ratio of specific heat capacities of metal and water 1s 1 : 10)

100 g (8508 Ko a8 E5E08 Bod ﬁ%&‘& SN, o) ésﬂf‘ij 20 °C 28R08. @wos
8328y adio B 20 g 8 BBKES Bty (°C &)

(8%p0 B0 DB HBSE rsoome A48 1: 10)

Options :

5
1. ®

10
2.¢

3 % 12
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The ratio of the efficiencies of two Camot engmes A and B 1s 1.25 and the
temperature difference between the source and the sink is same in both the
engines. The ratio of the absolute temperature of the sources of the engines A
and B 15

A $58cm B @i 3ot SUE;S\. dholgre Higde ?ZI""-*?_% 1.25 $5:60% Both dholgred &9
m%%ﬁﬁc 5805 dderdaire affde Foren S5mHo. A HBdin B dholgre

gapdaire D85 atfNde m@;@
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The heat supplied to a gas at a constant pressure of 5x10° Pa is 1000 kJ. If the

volume of gas changes from 1 m’ to 2.5 n?’, then the change in internal energy of
the gas 1s

236 S50 5x10° Pa 28 .8 o D 3% 630 1000 k], srci0s) Hd08mem0
1 m’ %008 2.5 m° % 5708, & o) w0y €4s° viler)

Options :
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When an ideal diatomic gas undergoes adiabatic expansion. if the increase in its
volume 1s 0.5%. then the change in the pressure of the gas is

t”'“i({) &) ”/f“ﬁ""“"" ""5(35.1-1#' ‘% ég G'JEAYTME? é Bt (Eww -fifu ) O;J;wo Sfoli E&O‘Rﬁm

2655 0.5% wond, © aedind Hesestd S8

Options :

= +0.5%

—0.5%

2. %
—0.7%

3.9
70,
4 % +0.7%
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To mcrease the rms speed of gas molecules by 25%., the percentage increase in
absolute temperature of the gas 1s to be

a8 arding) ang) emde ms HED 25% Dodb, o ardng H ﬁo..é_[ﬁeﬁm;

2odHeh 8o

Options :

o AT

h
=
-2
h

Question Number : 101 Question Id : 64041116901 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

When both source of sound and observer approach each other with a speed equal
to 10% of the speed of sound, then the percentage change in frequency heard by
the observer 1s nearly

&R esidBo sBakn $HB80%E 3 58 10% 30 H68° F&g,u&}ﬁjé\w& © H68ebd

I3 e Jé’ﬁ Efﬂ'*‘fﬁl FE0 RPET
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Options :
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According to Rayleigh, when sunlight travels through atmosphere, the amount
of scattering is proportional to n® power of wavelength of light. Then the value
of'n'is

b Ei{jga’m bore, dirareribeo oxoe Grtseod @dﬁﬁ%@ﬁntﬁ:@a&, é&éﬁi‘a 208 re0

508 $80K3Y so @wE) 03 irerds SRR v (e 6. ©ond 'n’' deod
Qo %

Options :
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In Young's double slit experiment. if the distance between the slits is 2 mm and
the distance of the screen from the slits 1s 100 cm. the fringe width 1s 0.36 mm. If
the distance between the slits 15 decreased by 0.5 mm and the distance of the

screen from the slits 1s increased by 50 cm. the fringe width becomes
dhoh a0ty DOY Harkost, HDge g trdo 2 mm oy 885, SDged g
drdo 100 cm &i0ped, H& Steny 0.36 mm. Hoge s tieddnid 0.5 mm $hod,

DD ot 88 Krsinid 50 cm 20d, 5§ ey

Options :
(.84 mm

1. %

0.96 mm

2. %



0.48 mm

0.72 mm
4,
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An electric dipole with dipole moment 2x107'° C m is aligned at an angle 30°
with the direction of uniform electric field of 10*°N C-. The magnitude of the
torque acting on the dipole 1s
231070 C maxegs griobo Ko 28 D8 Ao 10°N o 28 D808 Qiks

é@‘ﬁ 8888 30° 80 T2 Q%ore 68, Ao AT &rB)

Options:

10N m
1.4

10°Nm
2. ®

10*Nm
3. %

10N m
4. %
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If a dielectric slab of dielectric constant 3 1s introduced between the plates of a
capacitor having electric field 1.57 N C, then the electric displacement is

B %Unoéo 3 Ko a8 8% Byd 1.5 N e Selg® §L@€o Ko Sarntb Hese S

3]

60i, ks Frigodo



Options :

| 125 % 106 2:C am™

125 1P Cong™

2. %

250 % 1072 C m
3. %

250 210 C i3
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An electric charge 10™ uC is placed at the origin of x-y plane. The potential

difference between points A and B located at (\E m.2 111) and (2m.0m)
respectively is

X-y $008® Sire Dothi) N 107 uC @iﬂ}é_,@ﬁ%ﬂﬁfg_ SO, DR [\E m.2 111)

focin (2m,0m) & 58 65 AHBan B Hothde St ErBHAHS B0

Q [ [ ¥
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0V

4% 2V
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If each resistance i the figure 1s 9 Q. then the reading of the ammeter (A) 1s

56088 e (58 9680 9 Q wons, @ﬁ]}é&;tfo (A) 680

@

9V

Options :
1. % 8 A
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The area of cross-section of a copper wire is 4 X 10~ m*and the electrons per
cubic metre in copper is 8 » 10%. If the wire carries a current of 6.4 A, then the
drift velocity of the electrons (in 10~ m s™) is
2.8 ooft k) mtjqéﬁ B8ex0 4 X 107 m? %805 ooh BKE 2.8 Y Herdsty
Jogeoen § x 10%. 856% dixs (Harro 6.4 A @owd, o 45?5 83 30
(107 ms&Y)
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% 025
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If a current of 15 A passes through a solenoid of length 25 cm. radius 2 cm and
number of turns 500, then the magnetic moment of the solenoid is
25 cm 6%, 2 cm amRrgo Bk 500 iy Soxg DAY a8 Daron&at 15 A

S (Hirodind), & FOTant wcdImod [grindo

Options:
“ 61T

33T

3nIT!
3.¢¥

6 I T
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The maximum magnetic field produced by a current of 12 A passing through a
copper wire of diameter 1.2 mm 1s

2 mm @50 Ko o°h B Wssrod 12A DS [arero £DA0T gl Clonmplelt
5o
Options :
2mT

5 @ 4mT



3 % 1.5mT
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Two moving coil galvanometers A and B having identical springs are placed in
magnetic fields of 0.25 T and 0.5 T respectively. If the number of furns in A and
B are repsectively 36 and 48. and the areas of the coils A and B are 2.4 x 107 m’
and 4.8 x 107 m’ respectively, then the ratio of the current sensitivities of the
galvanometers A and B 1s

MBS yohen e Bo £68 éﬁzﬁ;ﬁ‘t E'T"F_E\'_’Dﬁl.-wfi A 06cm B a3 0.25 T
26650 0.5 T echar)od %g@ﬁ?éﬁ sodebaron. AHbain Best SHe Roggen HEKT

36 £ban 48, A HBcn B &K o gTeren S 24x10° m* Hbcm
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The self inductance of an air-cored solenoid of length 40 cm. diameter 7 cm
having 200 turns is nearly
e 40 em. axio 7 cm B ey Sogy 200 EOA B8 Ko af POk

nabo @S0 DIt

Options :
| 484 uH

242 uH
2. %

121
3. %

968 uH
4. %
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o . 1 | o
A coil of inductive reactance F Q) and a resistance 1 Q are connected in series
J

toa 200 V. 50 Hz ac source. The time lag between voltage and current is

iﬁ:éééﬁg (286%50 i QKo el e@ﬁ:ﬁaé&gﬁ: H8an 1 Q 95%50 200V, 50 Hz #e 2.8

V3
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Options:
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If the magnetic field in a plane progressive wave 1s represented by the equation
B, =2x107sin(0.5x10°x +1.57x10"t) T, then the frequency of the wave is
(In the equation time t 1s in second)

.8 HEnde DB Sborios” edharod Seet)

B, =2x107 sin(0.5x10°x +1.57x10"t) T5&n&8em0d 50, © #boro 8o

T
12

(5888e08° S0 t 28oth &)

Options:

75 x 10° Hz
1.¢

150 x 10° Hz

75 % 10" Hz
3. %

150 x 10" Hz
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When photons of energy 8x10™ J incident on a photosensitive material. the

de Broglie wavelength of the photoelectrons emitted with maximum kinetic energy
is 10 A. The work function of the photosensitive material is nearly

a8 gt g s derdoz 8x107 Y] 48 o Perdhen HESPIE & qféfﬁ_a“
183, 8e: 8 Ko gRe m@ﬁ?@&? & lerdD etériﬁoﬁ@g}éo 10 A. & §RStmees Soe g
ehobo e

Options :
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The minimum wavelength of X-rays produced by 20 kV electrons is nearly
20kV au@lq*é,u Dg 68 éﬁcﬁ X-Bere 803 850188 50 ST

Options :

£y _3
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If the half-life of a radioactive material is 10 years, then the percentage of the
material decaved in 30 years 1s
2.8 'r_ci&-cﬁjrcrrﬁéé aicpgo o), 08808 seoo 10 NoRE o), Lo © ;ﬁmﬂfgo

30 Sosdyres’ Eoho 308 o
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At absolute zero temperature. an intrinsic semiconductor behaves as

565 Erids GEENE 3 a8 Aggrate: ofarerto (B8
Lo [ =

Options :
conductor

1 % eareBo

sUperc onductor

ped
Sl Pyryi=Tg

2. ®

insulator

3 ¢ 2OoKBo

4. %



intrinsic semiconductor
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The logic gate equivalent to the combination of logic gates shown in the figure is

A—{>0
B—]>0

D608 Srdabd 88 oore Nodrmi8 degdid $8) oo

Options :

AND
1.4

NOR

OR

NAND
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The heights of tansmitting and receiving antennas are respectively and

20000

30000 times the radius of the earth. The maximum distance between these two

antennas for satisfactory communication in line of sight mode is
(Radius of the earth =6.4x10° m)

1 1
20000 2% 0000

£ 2 % % = = B
Gép. the) Ogr éigw@ﬁ & Both woBme i Hod)E8S Herdo Eho soddoid
e garels]
>
(& agarbo =6.4x10" m)
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Options :
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The work function of Cu is 7.68x1071° I If photons of wavelength 221 nm are

made to strike the surface of the metal, the kinetic energy (in I) of the ejected
electrons will be (h=6.63 = 10747 5)

-10

J. #8onda ro 221 nm en Ae gREESH) Farano

Shewy Th aothdy dugy Aeedd (o) 1=6.63 x 1074 )

b2

Options :

264 % 10718
4

1.32 % 107
2.64 % 1071°

6.60 = 10717

Question Number : 122 Question Id : 64041116922 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In an element with atomic number (Z) 25, the number of electrons with (n + )
value equal to 3 and 4 are x and y respectively. The value of (x +3) 15

St vogy (Z) 25 Ao Srrefod” (n+]) Dend 3 Hbdie 4 B Jkrdore aF

Deyerae dogren Sthdre ¥ Sobdin 3 (x + ) Denid
= B

Options :

2
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3 % M4
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Among the fons Mg®™, 0*~, A/ ¥ F Na"and N*", the fon with largest size and
ion with smallest size are respectively

Mg, 07, AP, F, Na™ %800 NV~ edingéf, e85 505mmo flo o)
0 o) H6drn0 Ko ©drd St

Options :
1_33 N3~ ME'+
. 0% F

. AF%JF 3—
' N3, AP
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The correct order of mcreasing bond lengths of C~H,0-H,C-C and H-H

IS
C-H,0-H,C-C oot H-H wogge s BR 5B (Eo
Options :
O-H<H-H<C-C<C-H

1. %

33C—CQC—H{H—HQD—H

e -HeH a6 -11
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H-H<O-H<C-H<C-C

4.
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. « e TH NN .
The sum of the bond orders of 05105 0;.05.0, and sum of the unpaired
electrons present in them respectively are

057,057,0;,05,0, © 20fEsre Indo Hocky EE &) asKril Qg

4]
o JGrr
Options :
10,4

1.4

10,6
2. %

3w 854
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2.0 g of H, diffuses through a porous container m 10 minutes. How many grams
of O, would diffuse from the same contamer in the same time under similar

conditions ?
28 36 ¥ oxo 20 g o H, 10 ddipod® ko Bobod. oF K}&%éaaaé*
©03Te0l® 6l iR Hod Y (rine 0, ko JothiH ?

Options :

% 2.0



4.0

16.0

8.0
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At T(K), the vy, of CO, 15 412 ms™. What is its kinetic energy (in kJ mol™)
at the same temperature '.;(C‘()2 =44 ).
T(K) 8. CO, &8 e 412ms™. B #3458 56 o0 K8add (k] mol™ o6)
w08 ? (CO,=44u).
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100 mL of aqueous solution o 0.05 M Cu*" is added to 1 L of 0.1 M KI solution.
The resultant solution was titrated with 0.01 M Na,8,0, solution using starch
indicator till blue color disappeared. What 15 the v olume (in mL) of Na,$,0,
used ?

100mL e 0.05M Cu* woErseeR), 1L 0.1 MKIrserdl $0ar0. 28 (@Seef)
Q) SrOEIGERN0Y D080 %o edpoddssH (.01 M Na,8,0, PHe08
©0dSPSH0 B, ABPAcSRES Na.S O%éaséﬁéaﬁmo (mL ©6°) dos ?

Py

Options :
% 2000

1000
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Consider the following.

|Eobiamd?) SBridodhim,

Statement-I : Both internal energy (U) and work (w) are state functions.

a7 -l » woefed 2 (U) dobafo 53 (W) Botie 3 dhasren

Statement-Il  : During the free expansion of an ideal gas into vacuum, the
work done is zero.

agepg -11 vt @ﬁé@mdﬁm@ r&ﬁéegoeﬁﬁﬁjé 03'5551‘50 Jobiia)ith bR DY i)

The correct answer 15
NOCHY axTED
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Both statement-I and statement-II are correct
aroggps-1 &0 a0 argrg-11 Bodr HBEHH.

Both statement-I and statement-II are not correct
syeggs-l 0800 arges-1I Dot BBEHHD =7,

Statement-I is correct, but statement-1I is not correct

arsg-l SBghEk, seR) eyl H60hEe srth.
3. %

Statement-I 1s not correct, but statement-II is correct
aregps-l BGHBG ercdy, =rf) agac-TT HOHRE.
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The signs of A, H® and A,S° for a reaction to be spontaneous af all temperatures
respectively are
e #EP%0 S o8 6 Srfosdh AHC BB AS® © e S
Options:
positive, positive

émééﬁo, cﬁaﬂééﬁo

positive, negative

C_‘fm“"eﬁéﬁﬂ, tﬁ:eaﬁeﬁéﬁo

negative, negative

HLeedZo, Keeddo



negative, positive
Boeged)Bo, Hoed)Eo
e [

Question Number : 131 Question Id : 64041116931 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The conjugate base of phosphorus acid 1s x. The conjugate base of oleum 1s y.
What are x and y, respectively ?

FRVER B3 o gjiﬁo X, £00%0 Go¥) 0w el ;ftio y. x 8050 y en SHdre
297
Options :

H,POj.HS,05

H,POj, HSO3
2. %

H,PO3, HS,07

3.

, » H2PO3. HSO;

Question Number : 132 Question Id : 64041116932 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



AtT(K), K, value of AO (g) + BO,(g) = AO,(g) + BO(g) 15 16. Ina closed
1 Lflask, one mole each of AO, BO A0, and BO are taken and heated fo T(K).
[dentify the correct statements “about this ethbnum

T(K) 3¢ AO,(g) + BO,(g) = AO,(g) + BO(g) % K den 16. &8 Swpdd 1L
RS L8 IS TGS AO,, BO,, AO, &ed BO o &550 T(K) 6%
GG, & el Jonofod) So@R o Mook, (only = $rE3)

I) Total number of moles at equilibrium 15 4
KEgs 38 Ango And) Jogy 4

) Atequilibrum, the ratio of moles of AO, and AO, 15 1 : 4
Sheds 3§ A0, Dodn A0, 0 &) D

[1I) Total 1mmbe1 of moles of AO ,and BO, at eq11111buum 15 0.8
s8w48 38 A0, 5608 BO, o Bndo En8) oy 08

Options :
I. IT only
, I. III only

. I1, IIT only

1. 1L IH
4.

Question Number : 133 Question Id : 64041116933 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the hydride which is not correctly matched with the example given m
brackets ?
(356" 2 erritnd O R o astobolBs HBoHin

e

Options :



Saline hydride - (NaH)
- RBS @& - (NaH)

Electron r1ch hydrnide - (H,0)

- Q@E@ whiore He ?@E - (H,0)

Electron deficient hydride - (B,H 5)

. QO[T IgRd Ko TRES - (B,H)

Electron precise hydride - (HF)
Qo SYyEore Ko TFEE - (HF)

o =

4.+

Question Number : 134 Question Id : 64041116934 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In Solvay process, NH, is recovered when the solution contaming NH,CT 18
treated with compound 'X'. What 15 'X' ?
e :;Ctg@@” NH,  J8ery Saoeedd NH,CT 68) (o) X' o Sayskos®
G Tobrd. X' ekt ob ?

Options:

Ca(OH),
1.¢ -

(‘EC:IE
2. %

. « NaOH

4w NaC/



Question Number : 135 Question Id : 64041116935 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following reactions give H, as one of the products ?
(Reactions are not balanced)

808 @ Sen H, & 2.8 Botrestorr adron ? (S8en dexo Sohadd)

(only = &r|gah)
11I) Al +NaOH + H,0—— IV) BE; + NaH——

Options :
I. II & III only

IT & IV only

I & III only
3.¢

I1. IIT & IV only
4, %

Question Number : 136 Question Id : 64041116936 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Consider the following.
|Bobiardd) SBridohim.,

Statement-I 1 CC, does not undergo hydrolysis. But 8iC/, undergoes
hydrolysis.

a7 -l . CCi, s 88mo 3o, s SiCl A 2 EEsee
Shssehob.

Statement-I1 : Thermal and chemical stability of GeX, is more than
GeX,

a7 -11 : GeXy cﬁm’@ﬁ%di) 5B 8o Q880 GeXy K08 Q.

The correct answer is

NBGHH Do
Options :
Both statement-I and statement-II are correct
aregng-l 8oBcho argpg-I1 Bothe KBEHRA.

Both statement-I and statement-II are not correct
a1 $oBobo argeyg-11 Boie HBEHE srd.

Statement-I is correct, but statement-II 1s not correct
ares-l HBGHHG, sed agps-ll SBEhHHL erid.

Statement-I 1s not correct, but statement-II is correct
o=l HBEHE srth, eof) argeg-1T HOhEk.

Question Number : 137 Question Id : 64041116937 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which one of the following gases 1s the major contributor to global warming ?

| . = BY=1 o _—Q;'sd--,—.-.-'-"‘.ﬂ o o =y, P,
8ob sranded® Ob Fritdo 5 (Hord skt ?



Options :
1 % CcO

CO.
2.v 2

CH
3. % ?

Question Number : 138 Question Id : 64041116938 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match the following
1Boh HY essthinam

List-I (Use) List-II (Substance)
whee-I (&5Frio) =11 ($5°50)
A) Electrodes 1n batteries I) Polypropylene
gt beos] 5}&;@55&3 FDEPHOS
B) Welding of metals IT) Polyacetylene
S50 @sEto FDHBOS
C) Toys IIT) Oxyacetylene
eS“éqg&:; :D_'-:lénj, nBO

The correct answer 1s
2BER Jdrgriio
Options :

A-III. B-II. C-1

1. %

5 A-TI. B-II. C-I



A-II. B-1. C-III

A-I. B-II. C-III

Question Number : 139 Question Id : 64041116939 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What 1s 'Z' in the following reaction sequence ?
8od SogEnos® 'Z' w6 ? (alcohol = wepssts: colourless = B0rb806)

: B : 1) KOH/aleohol . H,0
Cillg—22 5 3 U) = S I
CCly  (colourless) (i) NaNH; . A Hg" .H
333K

Options :

Acetone

-:LwE' 65_,
1.4

Propanal

8B arees

2. %

Propanol-2

BENS S -

3. %
Methoxy ethane
Doerdy 35

4, ® =

Question Number : 140 Question Id : 64041116940 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



A metal crystallizes in simple cubic lattice. The radius of the metal atom 1s x pm.

: i g 3
What 1s the volume of unit cell in pm” ?
28 &0 rdm D oo 0O&8mo 30858, &% HEirmd) ;ﬁéiﬂga‘m

X PIm. GO S H50SrRe pm of° Jod ?

Options :

3
1. % :

3
4x

16x°

Question Number : 141 Question Id : 64041116941 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
At T(K). the vapour pressure of water is x kPa. What 1s the vapour pressure
(in kPa) of 1 molal solution containing non-volatile solute ?
T(K) 5, &8 ajn‘cf}:ﬁ)cﬁém x kPa. wzrdnde [08snd 1 molal [mrdes erdShiessm
a b Ui ok - %
(kPa &%) dos ?
Options :
1% 1.018 x

0.8 x
2. ®

5 % 0.972x

0.982 x
4.

Question Number : 142 Question Id : 64041116942 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Elements X and Y form two non-volatile compounds (XY and XY ;). When 10 g
of XY 1s dissolved in 50 g of ethanol. the depression in freezing point (ATy) was
5.333K. When 10 g of XY is dissolved in 50 g of ethanol, the was (ATy)2.2857
K. What are the atomic weights of X and Y respectively ? (Kf= 2 K kg mol ™))
X 06cin Y sreseen Doth e:-a:n?@’é@ éé:@é@t@?&} (XY &batw XY,) e }le v lon}
10ge XY 8 50 go a8 $6A006H% Hdesss i Aiipd (ATy) 5.333K.
10gXY,050ge B3S°SE° $0R0DND (ATy) 2.2857K. X&bah Yo 5k

greoren e Jod ? (K.=2Kkg 11101_1)

f
Options :
| % 50u.50u

25u 235w

3 /5u,100u

Su. S
4 251 50u

Question Number : 143 Question Id : 64041116943 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Inacell. a copper electrode was used as a cathode. What 1s the elecrode potential
(in V) of the copper electrode dipped in 0.1 M Cu®" solution at 298 K ?

2.303RT
T i
Cu“"/Cu

L Sost, 5256 53&:[%5‘5&3 26°%Em add@rhomd. 298K 58, 0.1M Cu®™ [rsesos’

0098 s:5b 536:;5{55 0 (Vos®) dod ?

(E =0.06V)

E"J

S

B 2.303RT
Ccu*t/cu '

(E 0.34V =0.06V)

Options :
1. %



0.34

Question Number : 144 Question Id : 64041116944 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

R——P 15 a first order reaction. The concentration of R changed from 0.04 to

0.03 mol L™ in 40 min. What is the average velocity of the reaction in mol L™}
=
§

R——P, a8 (55 (gairol &t Rimiss 40 Deredt 0.04 S08 0.03 mol L7
% Br600. 5 506 o mol L™ 57! o Qo 2

Options:

2.5x107%

1. %

4.167x1078
2. %

4.167x10°
3. %

4 % 2.5%107°

Question Number : 145 Question Id : 64041116945 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Choose the incorrect statement from the following
Bob a8 oo BBseR e Xy E Ko,

Options:

Brownian movement and Tyndall effect are shown by colloidal systems
(@°NcHs Sebo HocH Homrd HDE0h Eerontie e (HE)RRom.

1. ®
Hardy-Schulze rule 1s related with coagulation
B0 -3ore) DeHHo HoBBHNHE [5020H0I5H.
2. % = = y
Gold number 1s a measure of the protection power of a Iyophilic colloid
= . £ =
. &8 0aredE Slepont ang) HOSEE ot Bodrdo /g dogy,
Aerosol 1s a colloidal system in which gas is dispersed in liquid.
DonB’PS @I (BH0S° rand ESS0 3088 a8 Bepond 35352
4.

Question Number : 146 Question Id : 64041116946 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following statements regarding adsorption theory of heterogeneous
catalysis 1s not correct ?

Derdoh &@:@59& w68 ?:cgoéo%ééj Koa06od) Bob axared® 0b ¥osh ?

Options :
The reactant molecules get adsorbed on the surface of the catalyst
cf

ﬁ@:ééo 60080 (Birant ey whd Neo dotharon.
1. % =

The chemical reaction occurs at the surface of the catalyst
- ﬁiﬁ:éé 608003 BeaD S8 athirbéod.

The product molecules remams permanantly bound to the catalyst surface

v (Biesly eveanhen t'“:|3;-f5§ su08e0p &S aokosad sotro.
3. M -



The catalyst remains unchanged i mass and chemical composition at the
end of the reaction

Sog08 Hodt ﬁ|"§ 88 (s550°8 shbasn Barchd Hosmtided® déndod 3°8)) S0,

Question Number : 147 Question Id : 64041116947 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following are carbonate ores ?
(Bob 7B HY Eﬂﬁeﬁ-&: 508 peren 7 (only = SrEsh)

I. Siderite II. Kaolinite
225065 E@nD3E
III. Calanune IV. Sphalerite
SPeEe SNOBES
Options :
I. IT only
1. %

I1. IIT only
2. %

I. III only

\.:;2

I1. IV only
4. %

Question Number : 148 Question Id : 64041116948 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Oﬂlloplmsplmms acid on disproportionation gives PH, and another oxoacid of
phosphorus 'X'. The basicity of X 1s

& m_":'n.- 50 @io edidardo Dob PH Bt o8 Ci't';;ém rﬁ%‘ sipo X' &
sy08. X aing) st



Options :

1. % 2

Question Number : 149 Question Id : 64041116949 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the incorrect statement regarding the interstitial compounds

o odorY Safareth Somofodd H6s°) agasih HBodob

Options :

They have high melting points

HBB =¥ (5DLFSS U;—PD,J &0TPon

1. %

They lose electrical conductivity during the formation from metal
5 @ a8 %50 Hod HBESHE arrden) B6heron

They are chemically inert

28 Barchlorr adael)) DA Sodron

3. % -

They are very hard.

. HBE =H¥ H&SH0 Gotnod

4, -

Question Number : 150 Question Id : 64041116950 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Which of the following exhibit ionization 1somerism ?

BoB =BS° HD woHdEses SP)EsR (©EGTron ? (only = Se|55h)

I) [Cr(NH;3),CL]CI IT) [Ti(H,0)5CI](NO3),
1) [Pt(en)(NH3)C/]NO3 IV) [Co(NH3)4(NO3),INO;

Options :

- IT & III only

, » 1&ILonly

II & IV only

3. %

, HI&IV only

Question Number : 151 Question Id : 64041116951 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A polymer sample contains 10 molecules each with molecular mass 5.000 and
5 molecules each with molecular mass 50.000. The number average molecular
mass of the polymer sample 13

2.8 Db ﬁgoﬁ;ﬁéﬁ aﬁ’sé emd (Sioed 5,000 & Ko emden 10 HBckn w§OC
o) (ko8 50,000 & Ko wmden 5 gamow. D0 Foad Hritn Kogy o
(Begoe8
Options :
4
)
1w 2710

3 x 10%
2. ®

5
Lu 2%10

3 x10°



Question Number : 152 Question Id : 64041116952 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following do not reduce Tollens' reagent ?
8ob & O eﬁ‘mf so85°R)) §ohEtemo Jobods) ?

a) Fructose b) Sucrose ¢) Lactose d) Cellulose

a) -ajgfﬁwb: b) }3}L§£ ) T?gg':f d) DediE

Options :

a.b

Question Number : 153 Question Id : 64041116953 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Consider the following,
1Bobad Hbridodin.

Statement-I ~ : Lysine, arginine are essential and basic amino acids

s -1 . BhS, eBdoen el Sbokn gl A0S esifiren

Statement-Il  : Leucine, phenyl alanine are non essential and neutral amino
acids.

agg -1 L erhS, 3T eodSen e dabck é&]é DEDS e

Correct answer 18
Nl iahiachle

Options :

1. %



Roth statement-I and statement-I1 are correct
sregpg-l @oBoo argeic-IT Boie HHGHHA.

Both statement-I and statement-II are not correct

gl $oBckm eIl Sotor SBEHED s
2. %

Statement-I 1s correct, but statement-II 1s not correct
aregg-l HBEhEk, se0 amgppg-11 H6EhEE et

3. %

Statement-I is not correct, but statement-1II is correct
sresgg-l BghRG erdh, erf) argeg-11 HEghnt.

Question Number : 154 Question Id : 64041116954 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Consider the following,
ol BB o,

Statement-I : Shaving soaps contain glycerol to prevent rapid drying

a7 -l : Eeon S0 amd &8 “rBoNet o aostrid Qﬁﬁ%ﬁj &R
SOLTP0W.

Statement-II . Laundry soaps contain sodium carbonate as filler

arsapg 11 . erold Kemppon, BEE0H 96‘33&.‘5_5’33 Db EDR dotrom,

Correct answer 18
NBCHE SrgEdo

Options:

Both statement-I and statement-II are correct
areggas-1 0B a0 agag-11 Bodr N6 ghiad).

1.¢



Roth statement-I and statement-II are not correct
sregpg-l @0Boho argey-T1 Boihe HHEHED sre.

Statement-I 1s correct, but statement-II is not correct
areggs-1 HBEHEk, se0 agpg-1T H6ghEk erth.

Statement-I 1s not correct, but statement-IT is correct
aregg-l HBEHEk srch, =00 gl KBk,

Question Number : 155 Question Id : 64041116955 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following sets of reagents convert aniline to chlorobenzene ?

o

~ L Ao o oS e §E -
808 o e S8 DS §%6° BodSre dridiod ?
Options:

NaNO, /HC/,273-278 K: Cu,C/, / HCI
1.4 B -7

NaNO, / HCI. 293 — 298 K: Cu,Cl, / HCI

2. %

NaNO, /HCI, 273 - 278 K; SOCl,
3. %

NaNO, /HCI. 273278 K: Cl,
4. %

Question Number : 156 Question Id : 64041116956 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the compound which 1s least reactive towards nucleophilic substitution
reactions.

F, —_ = - 5 " :
dresSaira D8 (B850 Sk D) v 5-0‘:,_2%1:’)@:5 e aifﬁmt?’a‘ioéa B0,

& &



Options :

CH,C/
1, %
A
0O,N
2.8 7
Ct
3.0 YO
CH, =CH- CH,C/
4, %

Question Number : 157 Question Id : 64041116957 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
An alcohol X(C5H;,0) on dehydration gives Y (major product). Reaction of Y
with HBr gave Z(CsH;Br, major product). Z undergoes nucleophilic
substitution in two steps. What are X and Y ?
2.8 we¥d X(CsH,0) Ejgi}écﬁzaoé"s Y (e )%)0)i aidod. HBr &Y S50k
i (& SHHBL BEFS 6870 b a0, Both wodeost Z ﬁﬂgﬁ@"ﬂ%}&% {;ﬁ@é;ﬁza Jotheob.
X 506a0 Y en o) ?

Options:

/\/\./\\\/\

OH



A
3. % OH
=

Question Number : 158 Question Id : 64041116958 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What are X and Y respectively in the following reaction sequence ?
Bots =@ Sov Eo8® X 5B Y en $50mr 39 ? (g = arciws), dil = 29%)

CHO
CpHsOH  ~, dilHCI <,
i) »X >Y
0,N

Options:

O""-—-H’/
CHO
5 ol
0,N 0,N
1.4



o N
O,N O,N

B OH
0/\
/©/<Oﬁ | U\
0,N 0,N
3. % ik
OH
0,N 0O,N
4, %

Question Number : 159 Question Id : 64041116959 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The carboxylic acid with highest pK, and lowest pK, values of the following
respectively are

Bob BS° wdhE K, 5bdhn vde) pK, denden EDAY sronB)DE ekipen Sthim

™

COOH COOH COOH COOH

| <j m @ HD <j m <j
I CN CH, NO,

Options :



LI

LIV

III. 1T

4w LIV

Question Number : 160 Question Id : 64041116960 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The % of cartbonin 'z'1s (Atwt. C=12u.H=1uN=14u.0=161)
'7 $oth =S Tdo (Atwt. C=12u.H=1u.N=14u.0=161)

CH;
NaNO, /HC!  HBF, _ NaNO,

0

273K Cu.A

NH;

Options :
713





